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Question Number : 1 Question Id : 8135611121 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

J’ sin(2x)
e — dx =
sin®(x) + 2 cos?(x)

Options :
| % log |1 4 cos?(x)| + ¢

, x —log |1+ sin?(x)]| + ¢

o
3 % log |1 + tan“(x)| + ¢

B 4 55
4 log |1+ cos”(x)| + ¢
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Question Number : 2 Question Id : 8135611122 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Choose the correct option regarding the following definite integrals

06 DB PATELRLR WD) VETIB JotoE ol

i

7
A jsinm{x} cos(x) dx = !
ifir m+1

0

T

Z

. L d —

B. !sm(x} cos"(x) dx e

Options :
A 15 true. B 1s false
A dasd0, B wm%;ﬁn

A 15 false. B is true
A wmgma, B Qadw

Both A and B are false

. A 2308030 B e Todlr e&a&g“w
3. %

Both A and B are true

4 A H8cin B e Bollyr Daen

Question Number : 3 Question Id : 8135611123 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A determimant 1s chosen at random from the set of all determinants of order 2 with elements 0
or 1 only. The probability that the determinant chosen 1s non-zero 1s

0,1 drosod i‘;dbé 2 X 2 8668 fo Ardse Qgﬁ?v 208 Aot) 28 :)g“d?!i}rl
Qotiagot] e :)g“ﬁso 0D m&pm SRS Roar(d Qodh?

Options :
4

1. % 8

Question Number : 4 Question Id : 8135611124 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

If the circle x + y2 + 6x — 2y + k = 0 bisects the circumference of the circle x? + y? +
2x — 6y — 15 = 0, then ‘k’ 15 equal to

Ayt 60— 2y +k =0 02w, 4+ 4 20 — 6y — 15 = 0 38 H8AD
RAPOEN B, K =
Options :

. 21

1. %

, % —21
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Question Number : 5 Question Id : 8135611125 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A bag contains books numbered 1 to 20. Three books are drawn from the bag with
replacement. The probability that largest number on the book is 7.

28 RS’ 1 Aot 20 HEL LoD (1 20 YVS™W &) av. DB Kool 3
DTV ST (B3 VR 260 2D Gotodr) &2 god 3B,
ﬁafﬁ “nncaas 7 wofi::}g D08 dn}OEJ"’S:l'S@

Options :
2
w 17

")

Question Number : 6 Question Id : 8135611126 Question Type : MCQ Display Question

AP EAMCET 2020



AP EAMCET 2020

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The length of the tangent from (6, 8) to the circle x% +v? = 41is

x4 y? =4 2508 (6,8) Dotk Do) K 236,08 T

Options :

Question Number : 7 Question Id : 8135611127 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

*.,-rg— 1

If sin(2x) = then x = %'}T + (=1)"(m), n € Z. find m.

S V51 n g
sin(2x) = 5 0D, X = P +(—1)"(m), n € Z ®o0d. m =
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Question Number : 8 Question Id : 8135611128 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The equation of the hyperbola with focus (1,2). e = 3 and directrix 2x + y = 1 s given by

(1,2) Docosd) 56 T, e =13 6:8),08¢ 2080k 2x +y = 1 oSBT (1 SITSVD
HeDE 0

Options :
_— 2y? —12xy —7x2 +2x — 14y + 22 =0

5 % 2v2 +12xy +7x2 —2x + 14y —22 =10

3 % 2y 1oxy—7x*—2x—14y—22 =0

4% 2y2 +12xy +7x2 +2x + 14y + 22 =0

Question Number : 9 Question Id : 8135611129 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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If displacement s = 5 sin(2t). then the velocity at the end of = seconds 1s

gé@oé;ﬁm. s = 5sin(2t) e20008, % DEH00 Sdared DI

Options:

Question Number : 10 Question Id : 8135611130 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

. . BA4E VI+x—y1—xY |
The derivative of y = Sin™* ( > ) is
MI+x—4f1—=x

2

y = Sin™! ( ) CI0E), DSV S0 ED

Options :
1

1 % Vi4x2

2 % ﬂ'l'llll_xz

3 % 2v1+x2
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3 P
4'¢2xl x

Question Number : 11 Question Id : 8135611131 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

5 - . ; - - : 42ty i o
What is the constant term in the binomial expansion of (1 + 3x)" (1 + 3—) ?
X

n
(143" (145) 6506 Do’ D6 desw

Options :

(En)
n
1. ¢

No such term exists

D0 DEAD Gotid
4, % @

Question Number : 12 Question Id : 8135611132 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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If the length of the tangent from (f, g) fo the circle x% + y% = 6 be twice the length of the tangent
from the same point to the citcle x* + y* +3x + 3y = 0. then f* + g + 4f + 49 + 2 is equal to

(f, 9) Do) dooct x* + y% = 6 @IS o 0y6\8 T, & Dochoe &voct 17 +y7 +
3x 43y =0 g3 o 0y6 )00 TeHe 0o, wavd, f2+ g7 +4f +4g+2=

Options :

1.%%5_1

Question Number : 13 Question Id : 8135611133 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

2

If :L} - hjg {,CDSh :'EIJ Thﬂ'llm —
dzy

v = log (cosh x) e200. — =

Options:

1 v sech®x
> % —sech? x

3 % sinhx
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4 % —sinhx

Question Number : 14 Question Id : 8135611134 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Let f: R = R be a continuous function such that for any two real numbers x and y,
[f(x) - f()] < 10- |x — y|*** then

‘R = R % o5y 0oohaw [F(x) = F(1)] < 10 |x — y]**! o0 Do
AL ; _
DDA DS Bocy x HBA ¥ TR R By HOY, WY

Options :

- f(2019) = £(2020) +1
- £(2019) + £(2022) = 2f(2021)
- £(2019) = £(2020) + 8

4 % f(2019) = f(2020) + 2

Question Number : 15 Question Id : 8135611135 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The largest value of k for which the circle x% + y2 = k? lies completely in the interior
of the parabola y* = 4x + 16 is

V2 = 4y + 16 D0°80050%) ©od6ertieds” 12 + y% = k2 880 20080 dodtore

(103 k Dend SenHaw.
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Options :

1. F 4“'\.‘?

Question Number : 16 Question Id : 8135611136 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

2 tan(x) B, ;
For the value of . .} to be positive. find values of x. such that x € (U, E)
1-tan?(x) 2

2 tan(x)

¥ E (0, E) 5°9 9 1 Dewsw Denss G S

1-tan?(x)

Options :
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Question Number : 17 Question Id : 8135611137 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

When six coins are tossed simultaneously. the probability of getting at least 4 heads is

DeT0AS 6 TR EIVTH. M sDvAw 4 TEep £5°30) E 2003 ogrd

Options:
11
1. % 64

15
> % 64

11

Question Number : 18 Question Id : 8135611138 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Theten’s digitin 114+ 4!+ 70+ 10! + 12! 4+ 13! + 15! 4+ 16! + 17! 1s divisibleby
114414714101 + 1214 131 4 151 4 16! + 17! m@m&b DAV g"a‘sam'ié étﬁ.‘)a
‘&:oaa?gm Aot Eboa;é

Options :

i
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2.v 3

4. ®

Question Number : 19 Question Id : 8135611139 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

- dt t . the ¢ dx @' (x)
Xpress — — z i the Io1m o1 —— — e
1 23 dax (x 3 E,'E‘_z;tft) dr t
X

dt t dx
= G oty 5 =0 (7) e e

Options :
i—t—g_z(%)
1.vF
A
2. %t
i+€2@]
3.% t
X _2)
4. % t

Question Number : 20 Question Id : 8135611140 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
AP EAMCET 2020
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Orientation : Vertical
Cube roots of umity are the vertices of a/an . which 1s inscribed in a circle of unit
radius. with its center at origin
Bredotnd) Sodaw S “1” :.r'?@“g;‘m (o Hyae° eodddotstv  Szba)
3o D880(1) C0g), MM AxreBeL?
Options :

Right angled triangle
1 % Lot Gz

Equilateral triangle
5 o POSETITN) G222

Scalene triangle

3 % DSVETITY BF0RAW

Isosceles triangle

4 % R2DOETTNV G200

Question Number : 21 Question Id : 8135611141 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If M is a point on the line v = x and points P(0,1). Q(2,0) are such that PM + QM 1s
munimum. the coordinates of M are

y =x 800 M w8 Docded). P(0,1). Q(2,0) Dotosde PM + QM dexosd 5:}531:: woi:igéag,qn
Goll. M Adrozeny

Options :
,«(0,0)
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(13 13)

5 % \1717
)

3% \7"7

(31 31)
4.9\ 7

Question Number : 22 Question Id : 8135611142 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If 0 15 any point 0A+ 0B +0C + 0D = xOE. then find x. given that ABCD 1s

quadrilateral. E 1s the point of intersection of the line joming the mid-points of opposite sides.
ABCD zﬁe:éomgaamﬁ‘ D) Foaane 26 DoV 895 B0 PodoIBD Dok
Dothad) E ©00d, 0050 0 DET 26 Doco)s) 04 + 0B + 0C + 0D = x0F ©owd. x =
Options:

1.¢ %

LA

W
8
9 |

Question Number : 23 Question Id : 8135611143 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

cos(x+a+b) sin(x+a+b) 10
ff(x)=|cos(x+b+c) sin(x+b+c) 10 |then (F(2019) %Y — f(2020)"*? =
cos(x +tc+a) sin(x+c+a) 10

cos(x+a+b) sin(x+a+b) 10 .
f(x)=|cos(x+b+c) sin(x+b+c) 10|e0ns, (:f(ZOlQ)ﬂzm'] — f[:2020)”2019} =
cos(x+c+a) sin(x+c+a) 10
Options :

1.8 1

Question Number : 24 Question Id : 8135611144 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The angles A, B, C of a triangle ABC are in AP. If AB = 6,BC = 7 then AC =

A,B,C e ABC 82025068° Srren 2bokn 9 woﬁdeﬁeméiﬂ. AB = 6,
BC =7 0008, AC =
Options :

v 40
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3 ¢ V43

Question Number : 25 Question Id : 8135611145 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If 125%_1 = HCRH . then find &

12 I —
Cor—1 = Cppq WOOI Kk =

Options:

1.“3

Question Number : 26 Question Id : 8135611146 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

. xn—3" i ——
If 1111% ( = ) = 108 and n € N then the value of *n” 1s
=¥ o

n__ n
lim (I 2 ) = 108 H08aiw n € N e, n =

x—3 x—3

Options :
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) |

Question Number : 27 Question Id : 8135611147 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The radius of any circle touching the lines 3x —4y+5=0, 6x —8y—-9=01s

3y~ 4y +5 =0, 6x— By —9 = 0 B0 Ry3ofd DB B8 TG

Options :

1.“1

3. %

19
4.v 20

Question Number : 28 Question Id : 8135611148 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

. dy .
fo® L 52 gt (X =
If log/x*+ y* =Tan (}F) . then — 1s equal to

—_— d
log/x%? + y% = Tan! (%) 00D —= =

dx
Options:
y—X

1.« ytax

Question Number : 29 Question Id : 8135611149 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

2 =1 3 0
letA=|1 1 —1|andD =|1 | Thesystem AX = D has
0 0 1 0
2 =4 3 0
A=11 1 -1|.D=|1]|.4X=D && L6 SO
0 0 1 0 '
Options:
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No solution

T T

A unique solution

€
, o 88 Feo

More than one but finite solutions
2088 S0l DEY,D 57 DBDD JEHAW

Infinitely many solutions
e9d0dh QDD

Question Number : 30 Question Id : 8135611150 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

What is the value of 126 corrected up to three decimal places?

V2 D), EZPON0Y DRV, SUFPED BT 0TAVLL) DIHB)

Options :
1 % 2.998

, % 2.844
3 v 2.962

4 % 2.823
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Question Number : 31 Question Id : 8135611151 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
(102)* =2
Options :

1 % 108242316

> % 108423216
3 » 102843216

4 108243216

Question Number : 32 Question Id : 8135611152 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

T3

1
j R — ('!T’-’C =
1+ +/cotx
/6

Options :
T

1_\_",_;12

Z.ME‘

SE
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Question Number : 33 Question Id : 8135611153 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

AB 1s a line segment moving between the axes such that ‘4" lies on x-axis and ‘B’ lies on y-
axis. If P 15 a point on AB such that PA = b and PB = a. then the equation of locus of P 15

X - 053007 ‘A’ Docky) HBADY V- 045009 ‘B’ Dotdd) EotdHNM AB Baraotidn
©50octocidR) B, PA = b 208080 PB = @ eood{etr 35rgocand P Dodoy) &), P
Dotk DRSS

B
5 207 207
2 Z
X
E a ¥ i

Question Number : 34 Question Id : 8135611154 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

AP EAMCET 2020



AP EAMCET 2020

(1 +i)5ﬂ =4

Hm =
x—=0 X

Options:

| on

Question Number : 35 Question Id : 8135611155 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If a, B, y are the roots of the equation 3x® — 9x2 + 5x — 7. then what is
the valueof @ + § + ¢ 7

3x3 —9x?2 +5x —7 D a,f,y w0 Sorered wand. a+ f +y =

Options :

AP EAMCET 2020
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Question Number : 36 Question Id : 8135611156 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

]

Let it and ¥ be twovectorsin R If [ + v |2 = 2(Ju |® + |7 |?) . then

R* &° 1,7 &0 Bocd p&%ew |1 + 7|2 = 2(|7 |2 + |7 ]%) wons,
Options :

u and v need not be same but they have same direction
5 x U,V RATFIHL 57 T 28 HF DOHIW

1 and v need not be same but they have the opposite direction
U,V &0 DATIINW 57 5° ) H(E0 BF DOHILD

4% U =20

Question Number : 37 Question Id : 8135611157 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The quadrilateral formed by the pairs of lime xy + x +y+1=0, xy +3x+3y+9=01

Xy +a+y+1=0 20800 xy + 31+ 3y +9 = 0 S0 d6yE debachyzn

Options :

1. %

AP EAMCET 2020
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Parallelogram
RDT0BE BB

Rhombus

O0I0R) z‘.’se:&ocisga;m
2. % :

Rectangle

L B8 BR300

Square

4 (alzblaralabb)

Question Number : 38 Question Id : 8135611158 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The equation .,'.f' (x—2)2+y*+ -\v.f" (x+2)% 4 v2 = 4, where —2 < x < 2. represents a

~2 < x < 20008 /(1 — 2)2+ y2 +/(x + 2)2 + 2 = 4 22E:0 Hrdodd 50
WS

Options :
Circle

1% ;::&eg.;:‘m

Pair of lines
) 65:“0:133%,‘.:33
2_ W

Parabola
3 % Folo el 3lonbiubh)

AP EAMCET 2020



AP EAMCET 2020

Line segment

4 oot

Question Number : 39 Question Id : 8135611159 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The equation of pair of straight lines parallel to x-axis and fouching the circle
X2yl —6bx—4y—12=101is

Dy Ry Br 1% +y° — 61 — 4y — 12 = 0 x- 0FS DATIGANT ol
REEBgrabO) HREEED

Options :

- S .
1Y 4y —-21=0

, x Y2+4y—21=0

3% Yo —4y+21=0

n yi+4y+21=0

Question Number : 40 Question Id : 8135611160 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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AP EAMCET 2020

Stanx

tanx) —2 dx = ax+ flog|sinx —2cosx|+y.then ¢ — f =

Stanx g gl —2 | 290N =
Gans) 2 x = ax + flog|sinx — 2cosx| +y , &—B =

Options :

1.¢ 1

Question Number : 41 Question Id : 8135611161 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If @b and C are position vectors of the vertices of AABC. then -

a,b,c e ABC §%adns'd A, B,C %g;‘mv gﬂa‘r’oﬁéw a0, -

Options :
1. % cotC

5  tan 4
3 % tan C

4 % —tan A4

AP EAMCET 2020
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Question Number : 42 Question Id : 8135611162 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

x+1 A B . .
It (2xr—1)(3x+1) S = i m— then 164 4 9B is equal to

x+1 A B

213+ 21 + g PO0®, 164 +9B Dend doh

Options:
4

1. %

Question Number : 43 Question Id : 8135611163 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the roots of x® — px% + qx —r = 0 are in A P. then

¥ —px® 4 qx — 1 = 0 g, rosnen WwosIS” G bond, Byw

Options :

- 2p3 —9pq +27r =0

. 2p® +9pg —27r =0
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- 2p® —8pg +27r =0

4% 2p® —9pg +28r =0

Question Number : 44 Question Id : 8135611164 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The function f(x) = sinx — cos x is

f(x) =sinx —cosx DIOSL 08

Options :
Odd tunction

I SERE R

Even function

, s B B0aBIN

Neither even nor odd tunction

3 ¥ EJed 00300 SPED. R0 DAL S

f(x) 1s not a function
4% f(x) Hoobo 57w

Question Number : 45 Question Id : 8135611165 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

AP EAMCET 2020



AP EAMCET 2020

The eccentricity of the ellipse 4x? + 25y2 = 100 is

4x2 4 25y% = 100 H835y503 &8) 0?

Options :

H

2

) |

1.4

I

v21

Question Number : 46 Question Id : 8135611166 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

o H T il . T :
The minimum and maximum values of cos (.\' T E) + 2y/2sin (x + E) are respectively

i (x + %) 1 24/T sl (x 4 g) G18), $33 2080 10 Dewven ST

Options :
; x—(2V3-1) & 2v3-1

5 % —(1+2V2) & 1+2V2

3_\_{,—3&3
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=2 & B
]

Question Number : 47 Question Id : 8135611167 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
—b, x= 2 I -

If f(x) = - then the value of “k" if lim f(x) may exist is equal to
fl{', l ~ 2 x—)Z

i T , OGS H30000 lim £(x) B3R5
X x-=2

ghosaw f,R 3 f(0)={"
eand, k =7
Options :

1.«_1

2 % —2

Question Number : 48 Question Id : 8135611168 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A regular polygon has 170 diagonals. Then the measure of mterior angle of the polygon is
28 S5 wirozvad’ 170 SO RREY &KJ;LD. £90008) BITVZNE 0SBy Dewd
Options :
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Question Number : 49 Question Id : 8135611169 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

—y —§

For a parallelogram ABCD. if L and M are midpoints of BC and €D then AL + AM =

ABCD R3rehd mmmaaa.:m. BC 0313537 m¢5e3om¢3 L 803w CD oﬁnsb 53@523@@@
M oo, AL + AM =
Options :

— AC
1, % 3
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Question Number : 50 Question Id : 8135611170 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The probability of a non-leap year having 53 Mondays 1s

gf.,}j-‘é}o;be:ﬁbdo 5°R "caa;bébdanéé 53 Td0T6a0e0 &etirds Ko R}o@b}gé

Options:
2

7

Question Number : 51 Question Id : 8135611171 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

i {(1+x%) Tan (x)} =
dx

Options :

| % X Tan 1(x)
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5 % 2 Tan (x)

=
3 v 2xTan (x)+1

4 % xTan 1(x) + 1

Question Number : 52 Question Id : 8135611172 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The equation of the curve passing through (1, 2) and whose tangent at any point (x, y) makes

an angle Tan™* (2x + 3y) with the x-axis is

(1,2) Dockog) ot Jeh Sgop DB Dockoad) (v, y) & A2 Byd 3 r-wfdws
Boso & Tan (21 + 3y) 0w, 8 S8 HRL6RAY

Options :

; 4 o 3x—3
1.¢61+L}}-+2—268

, % 6xF9y—2=26e""

6x + 9y +2 =26
3. W

, N . 3x+3
4 % 6x +9v —2=26¢

Question Number : 53 Question Id : 8135611173 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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=pXxTand p.q = p. T, then

[
—,

=i
i

]

DX T S0600 P.§ = P. T @00,

ol
X

al
I

Options:

#

=l
I

=

=l
_|_

|
I
<

Question Number : 54 Question Id : 8135611174 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
B ... . B " e g i 11

(cos,— -Hsm—) X (ms—-l— ] sm—) X (cos—-l— Lsm—) X v 00 =
2 2 4 4 8 8

Options:

1.% 1

Question Number : 55 Question Id : 8135611175 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the lines y = 3x + 1 and 2y = x + 3 are equally inclined to the line y = mx + 4. then the
value of ‘m’ 1s equal to

y = mx+ 4269008 y =3+ 1 2800 2y = x +3 G200 MArd A0\ 3 $OA ol
‘m’ deod =
Options:

1+ 32

Question Number : 56 Question Id : 8135611176 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Find the coordinates of M in the original system if the point M changes to (4, —3) when the
axes are rotated through an angle of 135°,

28 Dochid) M w0 135° gimo Sabrr D62 4789 o0 G (4, -3) I a78ob.
SRR {88 ¢a§“5 M ddridzen

Options :
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Question Number : 57 Question Id : 8135611177 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

51
Find the conjugate of ——
71
51
cﬁ.u;b “n:ooj:.}riém
7+1
Options :
— (i —7)
1.v 10
1
— £ 7E— 1)
2 % 10
1
—= {1+ Fi)
3. % 10
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1

. =@ -7D)

Question Number : 58 Question Id : 8135611178 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

z—12

If

= 5 then |z| =

z—25

7z—1

= 5eadS. [z =

Options :

’I«'-/S

Question Number : 59 Question Id : 8135611179 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Find the equation of normal to the curve ¥ = x* — 3x, which 1s parallel to the line 2x + 18y = 9?

21 + 18y = 9 B HarositorT &od ¥ = 1° — 3x S e edoondn Hagtean

Options :

1. %
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X+ 9y = 20 only
x + 9y = 20 ardiad

X + 9y = 40 only

5 % X + 9y = 40 arétan

x+9y=+732D
W .

4 % X+ 9y =140

Question Number : 60 Question Id : 8135611180 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Find the angle between the diagonals of parallelogram PQRS if PQ =37 — 27 + 2k
and PS = 7 — 2k

PQ=37-2] +2k, PS =1 -2k ©0a0d PQRS Dired6 8062a08" ST
206 Serdy Sx8) ot
Options:

e B
Only cos 8 = Ja

cosf = —Emgﬁ:
N

Both cos @ = iF
10

cosf = iF ﬁoc:i.)rﬁr;l
10

1.
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tanf = — i
3. % {1
tan @ = — prt
n \J'm

Question Number : 61 Question Id : 8135611181 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The foot of perpendicular from (5,7, 3) to the join of (9,13,15) and (12,21, 10) is

(9,13,15) Docioayad (12,21, 10) Dockoe) Sedrr 3idy 32 (5,7,3) 2o0t) A wordreidw

Options:
(—2,—-19, 7)

, % (2,19,7)

4 v £9 13,715)

Question Number : 62 Question Id : 8135611182 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

2 : ; c s
If secf +tanf = 5 then in which quadrant does 8 lie in?

2
sec +tanf = = 2200, G S50 Gof F AW
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Options :

1% 1

Question Number : 63 Question Id : 8135611183 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the sum of the distances of a point from two perpendicular lines in a plane is 1. then its locus 15

&5 Do) Avoc. Botd) VB3IV (1 CIPGAVL ABan 1 eod] Docidean B3 DATFHAN?

Options :

Two intersecting lines
Cotd) De3anen

Square
LEOGR0

A Straight Line
3 % NO¥ faf-))

Cirele
4 % oD
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Question Number : 64 Question Id : 8135611184 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
J eX COSBCX . cosecx - (1 — xcotx) dx =

Options :

| % excatx_l_r:.

5 P EJI'CUSE'C.I_i_C

3 % E—ICDSECI_]_C

4 % e—xcntx + ¢

Question Number : 65 Question Id : 8135611185 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Let 4 be a square matrix of order 3. Choose the correct option regarding the following statements:

1) There exists a matrix B of order 3 such that AR = I
2) There exists a matrix C of order 3 such that C4 = I
3) Aismvertible

A 08 3 X 3 AT & 08 DIHAVL H83Dotiol.
1) AB =1 waﬁ;@&gam B &0 3rgs 6ot @
2) CA=1 eﬂoiajgm%anrr C R0 788 Gotwd) &
3) AdS ards 66

Options :
Only 3 implies 1 and 2
| w37 1200000 2, HIBRAD 3 GOSN 1, 2 HIGIA ErE Jzo BYHTAN
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1.2 and 3 are equivalent statements
1,2, 3 e @ou&@é 2eotI0ED
2. ¥ )

In 1 and 2. B can be different from C

3 % 1 208030 2 HISSHH00ES” B, C g)&:}rﬁ;mw STOTONAD

None of the options are correct

4% @ 2Te POALAG 5P

Question Number : 66 Question Id : 8135611186 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

x?

The value of f(1). given the equation f xf(H)dt =x°—x3 is
0

x2

J' Xf(E) dt = x5 — 2% eand, F(1) =
0
Options :

4

1. %
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Question Number : 67 Question Id : 8135611187 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If f:NXN — N is defined by f((mjn}) =2™12n-1) ,¥(m,n) EN x N. then f is

fiNxN - N ,f((mn)) =2m@2n—-1) ,¥(m,n) € N X N, m d(Dosedd
HR00DHAW O, f DDA

Options :
One-one but not onto
B(EB0, 5°R) VoFRB T

Onto but not one-one
. R0ARBD, 57N BBLEIL 5@

Neither one-one nor onto
9 3(S00 ST BOI DoFRHD STE

Both one-one and onto

(S BOIV VoD
4.+

Question Number : 68 Question Id : 8135611188 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the increase in the side of square is 6 %. then the approximate percentage
increase 1 its area

28 BBVGPY FRD0S"I DAMEL 6 % AN, DFTV[HNS'I EZPOVEY
2w TSI

Options :
AP EAMCET 2020
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« 36 %
2.J12@’u
% 3 %

4 % 2%

Question Number : 69 Question Id : 8135611189 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The incentre of triangle formed by the lmes x +y =1, x =1, y=11s

x+y=1x=1, y= 10208 I6\& SzO2 oGSy SL0NAD.

Options :

x>

Question Number : 70 Question Id : 8135611190 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

The Cartesian equation of the line passing through the point (—1,3,—2) and perpendicular to
X v Z x+2  y-1  ztl

the lines—==—=—an = 1S
1 2 3 -3 2 5
+2 ik +1
— =S 3008 — = =~ G vonorT ot (<1,3,-2) Doy
hot o B S00HA Erddw
Options :

x—F v+3 E—2
1. % 2 7 4

x=1 yv+3 Z—2

5 % =2 =7 —4
x+l  y+3  zH2
3 % %, 7 -
x+1  y—-3  z+2
4.« 2 =¥ 4

Question Number : 71 Question Id : 8135611191 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

What 15 the relation between mean and median of a discrete data?

95088 BTroBin & 2EHTIS HBIL e METAS &) VoA

Options:
They are always equal
DD JUDHED DATRDDW
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They are always not equal
©92) DYIPYED DATAI0 TP

Sometimes they are equal

3 ¢ 9 §'0) I DATDA PHTTAL

No relation exists between them
4 % o ulh} Sfl.'}f,'}é LSl PokiodiA Eokidd

Question Number : 72 Question Id : 8135611192 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

3

V3 1 43 1
TN —). Then the angle

The direction cosines of two lines are (;, o I> and (

between the lines 1s equal to

1
Both PE¥GL BS 8 dddrr (—, 7

RE¥8RL 206 €t

Options :
1. % 30°

2. v 60°
45°

4. % 90°
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Question Number : 73 Question Id : 8135611193 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

For which value of °k’. the roots of equation 2x% + 5x + k = 0 are rational”

‘k’ 03135& D Densdd. 2x2 +5x + k=0 HOEGERBNDL) D) JurUre BLEHD R}oa::&m?

Options :

Question Number : 74 Question Id : 8135611194 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Find the area of the circle (x + 1)(x +2)+ (v —1)(v+3) =0

x+DGE+2)+ @ —DE@+3)=0 58 d70p0

Options :
17m

1.¢v 4
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Question Number : 75 Question Id : 8135611195 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

L b3
If the roots of the equation x® —ax? + bx — ¢ = 0 are in G.P. then =
a
bB
¥ —ax® + bx — c = 0 & Soroswen GP. &° &ofl e
Options :
1. % 1
2. % 1
3.¢ €
4.% — €

Question Number : 76 Question Id : 8135611196 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical
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Tangent at any point & on the curve x = 35secf,y =35tanf 1s

23D 6 Dotiad) 36 x = 355ech,y = 35tan 6 H5°8 6,62 VLG

Options :

| % ysint = x + 35cosf

7 2] == — 5
> ) sinfd = x — 35 cos @

- ycosf = x —35sinf

4% ycosf = x+ 35sinf

Question Number : 77 Question Id : 8135611197 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A bag contains 10 identical pens. of which 4 are red and 6 are blue. 3 pens are taken out at
random one after another. Find probability that all 3 are blue.

28 2o0E’ 10 283780 4 A6, 6 oo VAL &) D. AITEL S0 3 SVAVR

ST DTS 256 8, 8 3 VAV Do geawen 9@5 ’ﬂoe,r;‘)lgej

Options :
6
1, 23 1{}
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Question Number : 78 Question Id : 8135611198 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

/2 1

x Tan™*a ,
Iflhhi=| —dx,and b= | ———dx, thenl, ¢ [, 1s
sinx
0

A
0

/2

X Tan~x
I = | — dx , 2080 [, =f— dx , @003 I; = I =
sinx
0

=

Options :

1.Ml:l

Question Number : 79 Question Id : 8135611199 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The harmonic conjugate of (2,3, 4) with respect to the points (3,-2,2) and (6,—17,—4) 1s

(3,-2,2) Ho8odw (6,—17, —4) Detoo Cﬁag“é (2,3,4) Doty aws), Tod) s
Roadr] Do)

Options :
_(11,-16, 2)

1. %

(1 1 1)
% 2 3 4

Question Number : 80 Question Id : 8135611200 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

(1-+x)e”
X =

cot (xeX)
Options :

1 % log (cos (xe™)) +c
5 % log (cot (xe*)) +c

3 log (sec (xe*)) + ¢

4 % log (cosec (xe™)) + ¢
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Physics
Section Id : 81356123
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40
Section Marks : 40
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required?: Yes

Question Number : 81 Question Id : 8135611201 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

An mfinitely long straight conductor is bent in to shape as shown in figure. It carries a current [ 4
and the radius of circular loop 1s r m. The magnetic induction at the centre of the circular loop 1s

08 T 6R) 8R)D TIFE) DAY BPAR Ao Howrh. A’ PJaroid S
[ A. 35756 &y J“éa“go T m. BoNd HETE &udy Sodo I B0 OB Jod?

Options:

1. %
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Pol (T—1)
2nr

Hol (mr+1)

Yol (2mt—1)
3. 2mr

pal [2m+1)
4. ® 21r

Question Number : 82 Question Id : 8135611202 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A speech signal of 3 kHz 1s used to modulate a carrier signal of frequency 1 MHz. using
amplitude modulation. The frequencies of the side bands will be

3 kHz 2208050 8980 2.8 008erd) 28 1 MHz T30 T8 S0y
3T BoerdS GO0rfotrd. Bond, %“6‘}5 ‘JJéé?.J 3‘%::33“59.1: B0k

Options :
1ﬂ_Jﬂ,ﬁl.ﬂfﬂ*B MHz & 0997 MHz

> % 3001 kHz & 2997 kHz

3 » 1003 kHz & 1000 kHz

4 » LOMHz & 0.997 MHz
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Question Number : 83 Question Id : 8135611203 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A pressure of 1 mm of mercury is equivalent to

S0 IS 1 mm FEGRINS VAT DD 908y DI MBI,

Options :

1. % 1 mPa
) % 13.33 Pa

, »1333Pa

4 « 108 Pa

Question Number : 84 Question Id : 8135611204 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A bar magnet of length 10 cm and having the pole strength equal to 107 W is keptin a
magnetic field having magnetic induction (B) equal to 4 X 107% T. It makes an angle of
30° with the direction of magnetic induction. The value of the torque acting on the magnet 1s

41 X 1073 T 0 woﬁ&&oé Z830¢° 10 cm Téy, 10° W csgsar-ae:ssm Ao ws
0D 0B &8 AHI 08 261 BIS 30° Eeao BOLANIT Gotrd). VORI, &
A 08300 06 HITL WOFPREI DeV SLVYAW.

Options :

=
1 ¢ 2 X 107" N.m

AP EAMCET 2020



AP EAMCET 2020

5 % 2r X 107° N.m

3« 0.ON.m

4% 0.5 X102 N.m

Question Number : 85 Question Id : 8135611205 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A body of mass m 1s placed on the earth’s surface, It is taken from the earth’s surface to a height
h = 3R (R 1s radius of earth). The change in gravitational potential energy of the body 1s

(02 M (50 28 HWYP APSVAN D GoTd. TR B S0 Wolt h = 3R IS BRED
2. 303 (O] H3ue" 7oy [ard 7630 =R ]

Options :
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Question Number : 86 Question Id : 8135611206 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Find the apparent weight of a metallic block of density 5 g.cm™ and dimensions
5em X 5em X 5 em. in water.

5cm X 5em X 5 em 02 D8P0, 5 g.cm™ Fodd hd w8 ST
620 OS° 20D &) Y T Gy¥| TEA0 =

Options :

1'&;.4;5}(5>~<5><5gf

2334><4><4><4gf

3w5>¢4><4><4gf

4.¢4><5><5><59f

Question Number : 87 Question Id : 8135611207 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A particle 15 projected with velocity 2./ gh. so that it just flies over two walls of equal height ‘A’

and ‘2h" distance apart from each other. Find the time for which the particle flies between the walls.

2,/gh Sriswd D0 BDD w8 20, 28 Ao h’ DA " 2k’ Grdae” Gl Bocd Hcw
D (e afdr, TrE800) Triod. 0NN, 8 SRV Goc AKe S0t DOIrHothHdL Ok

SO0 VDG,

Options:
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4h
1.4 g

h
2. % g

4g

h
3, ®

9

h
4, %

Question Number : 88 Question Id : 8135611208 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The molecular motion ceases at

£9EANY) IDA &350 egﬁg@
Options :

. % 273K

, x 273°C

. —273K

3.

4 v —273°C
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Question Number : 89 Question Id : 8135611209 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The maximum velocity of a particle performing simple harmonic motion is 6.28 cm.s™L. If
the length of its path 1s 8 em. what is its period?

”rbd'?i?c"éés Bode 98 GR)) wS Stio GIVS), ri&%q Mo 6.28 cm. 57!, ol T 8 em
oIS 836 S0 dod?

Options :
1 8 28

o ks

33335

1s

Question Number : 90 Question Id : 8135611210 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A piano wire with a diameter of 0.90 mm 1s replaced by another wire of diameter 0.93 mm of the

same material. If tension of wire 1 kept the same. then the percentage change m frequency of

fundamental tone 13

08 DErgand Sonecs 0.90 mm THRAD o dard Sk ardy 0.93 mm S o Sk
oD, H16° BB T GNP, FPADE DO TP’ o) AFDEH?
Options :

1% 3%

, % —3%
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+ 3.2%

4. v/ _3.20."{}

Question Number : 91 Question Id : 8135611211 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The capacity of parallel plate condenser 1s 5 uF. When a glass plate is placed between the
plates of the condenser. its potential difference reduces to 1/8 of the original value. The

magnitude of relative dielectric constant of glass 1s

Rrodd DuY S0 g, 33 NBdy 5 IF. S dwe), Husy 36 28 e
DS 6o, T TEJAHE o T Dewdes” 1/8 H S SO0, AR, e A,
56 fgc‘oéo -:)171::92j D070 dodd?

Options :

1.“*“"34

Question Number : 92 Question Id : 8135611212 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Lenz's law is consequence of the law of conservation of

ToR AFGaL O G yB( JoITEADA BeVY?

Options :
Charge
1 % BRBIW

Momentuin

@;ﬁﬁérﬁm
2. ®

Mass

3 % g;ﬁgﬂ'*%‘
Energy

po

Question Number : 93 Question Id : 8135611213 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

When the area of cross section of a stretched wire 1s halved and tension is doubled. the speed
of propagation of transverse waves along it becomes k times the mitial speed. Then k =

F6b & 2060 DTV AT Sfow) SRS 38ory) BAYD. 3 T (o
2oireotd 68 Sorian 3¢ & 9 H¢.$ k 5t o0B. wand. k =

Options :

1w 1
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Question Number : 94 Question Id : 8135611214 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

During phase change. entropy

5 Hrdn e’ Doti'e

Options :
remains constant
f‘gd;ﬁmr‘.r“ €0t

1. #

Always increases
5 3 DVRDYE DO

Always decreases
3 % QG SR

May increase or decrease
" 2 Jo @fr':i}rﬁ.)

Question Number : 95 Question Id : 8135611215 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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An infinite line charge produces a field of 9 X 10* N.C ™" at a distance of 2 cm. its linear
charge density 1s

208 900 BDOD 85330 2 om GrE3WE’ 9 X 10* N.CF ETrd) 60\d Sived. T
300 858 Fod G8) otsod.

Options :

| » 01 pC. it

5 % 02 pC.m=1

3 % 10 pC.m™*

4 % 20 pC.m™

Question Number : 96 Question Id : 8135611216 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A rod of length 1.0 m is rotated in a plane perpendicular to a uniform magnetic field of

induction 0.25 T with a frequency of 12 rev/s. The induced emf across the ends of the rod 1s

L0m Tea &%) 6 12 rev/s Paxdded, 0.25 T D66 wanios £8 bom &)
BerAS Loklol FDTL) BB, Lo sé Wt Déhcia‘) 208 Dméwt)ua D00 Joth?
Options :

| % 1889V

3.33 15V
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¢ 942V

Question Number : 97 Question Id : 8135611217 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

If 75% of a radioactive sample disintegrates in 16 days, the half-life of the radioactive
sample is days

16 S0’ 3eairmd s A2rT 75% D030 Do, & BEATEBE drT

OTTA0) SO Baven.

Options :

Question Number : 98 Question Id : 8135611218 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

When the torque acting upon a system 1s zero. the parameter that remains constant 1s
28 ;5'35%:.; DIBOEN LRSS0 Wed AR SOV, 208 @ TOE 73 %dow Gota?
Options:
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Force

1 % 2000

Linear momentun

B G50
2. F

Angular momentum
Eedab @37Dro
3. W

Linear impulse
4w ODOD HSBI50

Question Number : 99 Question Id : 8135611219 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
An electric motor exerts a force of 50 N on a cable and pulls it through 60 m m 1 minute.
The power supplied by the motor 1s
28 33::6355 Artrdd 50 N werd) G)eaod A6 1 A HarAed) 60 m erhDd. e

0D’ AP SLOAEND 3";33%5:&) Dodh?

Options :
1. ¢ 50 W

5 % 3000 W

3 % 1W

4« 100 W
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Question Number : 100 Question Id : 8135611220 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Light is an electromagnetic wave. Its speed i vacuum is given by the expression

508 w5 ﬂd}ééoﬁ%oé Bboriaw. é\réé;fmeﬁ‘ R iAo =

Options :

1 % + Haofo
Ho
€0

2. %

S0
Ho

3. %

1

4. v b i{ﬂfﬂ

Question Number : 101 Question Id : 8135611221 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The two combinations of ‘NAND" gates shown in the figure are equivalent to

HeA0eS” Grad NAND (03000 Tt SVONSL) VATIZ0VD T BNt

Options :

(1)- OR gate, (2)- AND gate
- (1)- OR (B, (2)- AND w80

(1)- AND gate. (2)- NOT gate
(1)- AND w8, (2)- NOT 8w
2

(1)- NOT gate, (2)- AND gate
(1)- NOT 8w, (2)- AND w8
3. %

(1)- AND gate. (2)- OR gzate

(1)- AND (02w, (2)- OR ©°(Ba0
4. ®

Question Number : 102 Question Id : 8135611222 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Cylindrical rod of copper of length 2 m and cross—sectional area 2 cm? is insulated af its
curved surface. The one end of rod is maintained in steam chamber and other is
maintained in ice at 0 °C. The thermal conductivity of copper is 386 J.s L.m1.°C™%).

Find the temperature at a point which 1s at a distance of 120 ¢m from the colder end.

2m T, 2cm’ obFS JTfo ;arb*s“é o°h 860 &) 95800 36 Desoyesyotsido
ST, 6 28 D6 BB ABS' DB D36 0 °C 3¢ &) WS’ Gomred. T

EQT RS0 386 1.7 m 20T o &) DBG Avodt 120 cm ErGed’ &)
Dotkoi) H6 &It E808) ol

Options :
1 % 80 °C
5 % 20°C

3 v 60°C

4 % 70°C

Question Number : 103 Question Id : 8135611223 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A body whose momentum is constant must have constant

BO[DAB ?gcﬁ;ﬁum (o 208 SR, ?gd:mrr" £9A Sotwod.

Options :
Acceleration
e:&nsdeam.)

1. %
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Force
ASIbh)

Velocity
3 @ 20w

mass

Q;jzf)u*’%‘

Question Number : 104 Question Id : 8135611224 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Young’'s modulus for perfectly rigid body material is
DOIPY B&00Y) o3eh MreasHw

Options :
Zero
m%?gzm

1. %

Infinite

5> & e9Nodhsh

3 x 1x10%° N.m™

4 w 10X 10% N.m™2

Question Number : 105 Question Id : 8135611225 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A Camot’s engine has an efficiency of 25% when its sink is at 27°C. If it has to be increased to
40%. what should be the temperature of the sink keeping the temperature of the source constant?

27°C &1 3¢ B IODAN 6R) D T & aoBn B8 25%. L 40%
Doustrd eardohan 8 ?gdaﬁm &od) FBerROLrR)Y O &1 & Dotrd)?

Options :
1 % 320K

, % 375K
3 v 340K

300K

Question Number : 106 Question Id : 8135611226 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A boy travelling in an open car moving at constant velocity throws a ball vertically
up into air. The ball falls

?gd St DOIrEdd) 28 D O SHS’ EreNE) DOITHEAT w8 Lodd NOANIIVS)lo)
s ﬂhﬁé:,}jhda &3 Boed 204,

Options :
Outside the car
1 % SO 20
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In the car ahead of the boy
5°G0e5°, €5 ered Ao

In the car beside the boy

- 57008, &5 ered 28O

Exactly in his hand

Lo B eTend Bees”

Question Number : 107 Question Id : 8135611227 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In an LCR circuit, the capacitance 15 changed from € to 4C. For the same resonant frequency.
the iductance should be changed from L to

LCR Soabos’ 33-5880y%) € A0 4C £ 507\, 08 0T6 TH)T{Os 0sso
Lol % 3rddood
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Question Number : 108 Question Id : 8135611228 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A ray of light 1s ncident normally on a plane mirror. The angle of reflection will be

W8 DBVEGR0D WS TS5 BV DBVVA. WOV DTG €20 Dodd?

Options :

1.¢ 0°
5 % 90°

Will not be reflected
3 % PTD000 Bodd

4w 60°

Question Number : 109 Question Id : 8135611229 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The wavelength of maximui emitted energy (4,,) of a body at 700 K is 4.08 pm. If the
temperature of the body 1s raised to 1400 K. 4,, =

T00 K &5 3¢ &8 S Qe &ards 38 A8 Gott 86ordG () = 408 um.
6 66%0 1400 K & 20032y & Aol De03E A, =

Options :

1 % 1.02 ym

5 % 16.32 ym
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3 % 8.16 um

4 2.04 um

Question Number : 110 Question Id : 8135611230 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

ELEr e errrrrrd

A mass M 1s supported by a mass less string wound around a uniform
cylinder of mass M and radivs R. On releasing the mass from rest, it

will fall with acceleration

M @503, R :.7"5.3“20 o 28 ;mﬂﬂbé. M @03 0w 3303

0erd iR DSOS otertiod. MWl &) STI SotdS

T
52080 B3, T 860 Jods? "
Options :

1.% 8

Question Number : 111 Question Id : 8135611231 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

Bottom of a cylindrical vessel has a hole of area *A". If water 1s filled up to a height *h’. it
flows out i ‘t” seconds. If water 1s filled to a height ‘4h’. it will flow out in time

28 ‘%13“5“5"6 F& o s A’ DTV (0 28 Go@awd) &. & T3 ‘b’ e
QY DoY), 8 A ‘1’ 2EIE” WK PSLPeDoB. “4h” IS B Doz,
> 236" L0HOL DI,

Options:

1.% L

Question Number : 112 Question Id : 8135611232 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Figure shows the cross-sectional view of the hollow cylindrical conductor with mner radius ‘R’ and
outer radius ‘2R’, carrying uniformly distributed current i along its axis. The magnetic induction at

point ‘P’ at a distance 3R /2 from the axis of the cylinder will be

408 HLAS” ‘2R’ ey J“ébgan obatn ‘R’ o0 3552:)» 0 w8 He ‘%Jﬂb“?d TEPEAD
o), ©EEd TEYY) drdetod. T ego Do 28 D808 DS i YRRy Howd, ¢
o0 ot 3R/2 drded’ &) ‘P Dotiosh 36 5B LA 08 ST S,

Options :
Zero
%\J‘“éﬁ&ﬁ.})

Sligl
72nR

gl
3 % 18mR

Sigl
4.« 36mR

Question Number : 113 Question Id : 8135611233 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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According to the Hooke’s law the force required to change the length of a wire by I 1
proportional to
08 AaDHAAW DS EA0 A TS’ 2y I GOGETRS S0 RS D
2950065 VA0S’ GotdB.
Options :

1w 72

Question Number : 114 Question Id : 8135611234 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A 20 kg flywheel in the form of a uniform circular disc. 1 m in diameter. 15 making 120 rpm.
What is its angular momentum?

120 rpm & 1m Tffoo (10 28 D08 JTTE DT 2ty Bodd 20 kg (dJ0E S0
awg), §ab §aRdro Jod?

Options:

| % 314 kg.m*.571

, » 314 kg.m?.s™1

, x 314 kg.m?.s™1
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4 x 0314 kg.m*.s™*

Question Number : 115 Question Id : 8135611235 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Energy levels A. B, C of a certam atom correspond to increasing values of energy that is, E; <
Ep < E..If Ay, 4,, A, are the wavelengths of radiations corresponding to the transitions C

to B, B to A and C to A respectively. as shown in figure. Which of the following statements is

correct?

:]gig DEITED)S RokoBondd 33 g‘m}m ABCo :;d;mmal deden £y < Ep <
E. 50a086° et C Ao B3, Bdvod A &, C &vol A 8 264 6o 30 dwsds
2500500 @donggéw SR Ay, Ay, A; 9008 §08 TS 28 0and DO

Options :
1.% 3.3:;{1‘1‘12
A4
A =73 1+;21
2.v S

3 5 &1‘*‘&2‘1‘}13:{]

2 2 2
L ta =4+,
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Question Number : 116 Question Id : 8135611236 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Conditions of diffraction is

DDGTAS DesoddT e

Options :

Question Number : 117 Question Id : 8135611237 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

When a charge of 20 C is taken from one point to another separated by a distance of 0.2 m.
work of 2 I 1s required to be done. What 1s the potential ditference between the two poits?

20C 935?".3‘_1 0.2 m &rdeds” &) WS Do) Aot 268 Doty @m&@#&wdoé.
B8 21 0 DI BIVE6. B0 & Toth) DotPHR 6] THIADS Btso Jod 7

Options:
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—2
. 2X1072V

—4
L Ax 1074V

, 01V

Question Number : 118 Question Id : 8135611238 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The electric potential at a pomnt on the axis of an electric dipole depends on the distance ‘1 of
the point from the dipole as

038 &' vaw s, 8 GG wod T @reas’ 6d) Do) 3¢ Juds TuJows

D0

Options :

1#0(?"_1

Question Number : 119 Question Id : 8135611239 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

The pertod of revolution of planet A around the sun 1s 8 times that of B. The distance of A from
sun is how many times greater than that of B from the sun?

‘A}Jﬂm53 whtrr ShHRD) A B &dire dwg) HBFe 8:INF o B ST 8 0t ).
A, A © D06 Grbo, AP, B © 06 drdo Sotd dn)) G40 S0 T Gotidod?
Options :

1% 2

Question Number : 120 Question Id : 8135611240 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The efficiency of an ideal Carnot engine working between temperatures Ty and T, 1s 1/3. If
the temperature of the sink 1s reduced by 40%. then its efficiency will be

T, Sobaiw T, egﬁﬁév Sile DN W oo 507 & aoddn dES 1/3. Fwado
agﬁ;jam 40% agom:@m & 5°T7) & aoddn aiE) 3£ BVNoG.

Options :
1.% 0%

, % 25%
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3 60 %
4 % 75 %
Chemistry

Section Id : 81356124
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40
Section Marks : 40
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required?: Yes

Question Number : 121 Question Id : 8135611241 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A mixture of three compounds A. B. C is passed through a column of Al,05 by using
alcohol as elvant. The order in which they are eluted out of the column 15 C. B. A,
Which of the following statement 1s true?

A B, C ;};iayéa"w DJ@QJ"D:L ALy 03 (L 28 fito Tr(T° &50) 0 APVEerT TCD

ffedo &oc. C, B, AT J&o B00a). eyt 06 DIWTVS 6 dae?

Options :
*C" 1s strongly adsorbed on the adsorbent

| % ©OFTRED T VT AT RRHANIG
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adsorbent

v AT N0 ‘C LI 98T 2EH0NIE

‘A’ 15 weakly adsorbed on the solvent
- roe3e5” ‘A’ LIPS BT AN

The order of elution does not depend on the extent of adsorption
4w JFrOD S0 AT VIO SETEEHEE

Question Number : 122 Question Id

: 8135611242 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The tendency of catenation in group-14 elements follows the order:

ro-14 Aroste SN 60 2050005 Eotod

=

Options:
C == 51 = Ge = Sn

C > Si = (Ge = Sn

Si C > Sn > Ge

l'n"n'l

L, Ge 2 Sn = 51 = C

Question Number : 123 Question Id

: 8135611243 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical
Which of the following statements 1s incorrect?

1) NaCl being an ionic compound is a good conductor of electricity in the solid state

2) In canonical structures there 1s no difference i the arrangement of atoms

3) Hybrid orbitals form stronger bonds than pure orbitals.

4} VSEPR Theory can explain the square planar geometry of XeF;.

S0 DIBTVL" DA BRS(HN?
1) eairds bmgm SRa0leadd) SIUR) 2R %93936 NaCl o00) 3@553‘5!3“5&‘.}:0
2) 8338 oy mwed’ HATmPHL BSY’ S ok

3) DA eﬁ%wﬁa s;r’l ~osd e_eaéer% EIR:D0A) LTV SJGDCSJKD@.

4) VSEPR ?ag"oe:ﬁm XeF, 0ins), nande 00y .OU%ET«?)A HEIACI RO

Options :

1.¢ 1

-2

4.% 4

Question Number : 124 Question Id : 8135611244 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Choose the correct statement from the following:

1) Beryllium 1s not readily attacked by acids because of the presence of an oxide
film on the surface of the metal

2) BeO 1s an amphoteric oxide
3) Bervllium exhibits coordination number more than four

4) Beryllium oxide 1s purely acidic in nature

S06 PIBT VS’ VB BOND PIBTR) o Bodoc:

1) @68ad ebdd0in D B3 \E T6 0o Hud BATVS” 1| Tosw.
2) @60 5\ w8 {:hgrb_seq“b(aﬁrgaﬁﬁ} L

3) B6DOS TRV Solf Iy PO Vo] B8R

4) £680H0 36 PO e dgraw s9A &) 6

Options :

v 1

Question Number : 125 Question Id : 8135611245 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following statements 1s NOT correct?

—

) froth floatation is used for removing gangue from sulphide ore

cresols are used to stabilize the froth

2
=

3) sodium cyanide can be used as depressant for preferential separation

4) anline can be vsed as froth enhancer

Sof DIBVANS’ B DB °E?
1) REYE a0 ool Toff Fufothind Do Héab KD EDATATE
2) %060 H65BouErdS ST 0 EOArHI
3) &Do5gHaNd (SErd(d ) S0 Soine Tdabe PELIE T EIY
1) RS20 6N LD DS DA fousdeidy

Options :

1, % 1

)

Question Number : 126 Question Id : 8135611246 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following 1s not an essential amino acid?

208D 65538 IS o IO B?

Options:
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Lysine
S0

Histidine

RS

Valine
e T

Tyrosine

SlepelS

Question Number : 127 Question Id : 8135611247 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which halogen can be oxidized by concentrated nitric acid?

e ST A0S e38\8Bodec TS ud DA?

Options :
Fluorine

oS

1. %

Chlorine

Bromine

L S5
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Todine
eI

Question Number : 128 Question Id : 8135611248 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The oxidation state and covalency of Al in [AICI(H,0):]?* respectively are

[AICL(H,0)5]* &° Al 58860 28 208050 DBAT2AOD VoCITFRES SERIT
Options:
1w +3 &6

L % +6 & 3

L T1&2

i 2 &1

Question Number : 129 Question Id : 8135611249 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

For the reaction N;0y(5) = 2N 0y if dinitrogen tetroxide 1s 50% dissociated at 60 °C, the

standard free energy change at this temperature and 1 atm pressure is

N,04(q) = 2N0y ) SO8" 60 °C, 36 ERE'RS OLFE\E 50% Dot Bodd, 0B &J'ge
So8at 1 atm Sedo ¢ DATE DETy#E Sr0y dod?

Options :
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- —3267.8 kIl.mol™1

- : —1
W —763.8 kJ.mol

2.

—867 kJI.mol™1
3. %

—249 kJ.mel™ 1
4, ®

Question Number : 130 Question Id : 8135611250 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The Freundlich adsorption isotherm vartes with temperature T

according to the figure given below. Choose the correct o

option accordingly I
x/m

Fanodd LATHY RAFYS 8, & (OS Soth Srtdy

308 D08 WrHREIB. TS Notlodol) S0l TS’

0 90058 DothE o 2
Options :

- Ty =303K, T, =298K, T; =244K, T, = 195K
5 % T;=303K, T, =195 K, T; = 244K, T, = 298K

3w T1=195K, T, =244K, T; = 298K, T, = 303K

o » T1=195K, T, = 303K, T; = 244K, T, = 298K
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Question Number : 131 Question Id : 8135611251 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The iso structural molecules among €0,, Si0,, SO,, Te0,, [NO,]* are

C0,, §i0,, SO, TeO,, [NO,]* 065° HAFD 855760 o) v Jobe Babod

Options :

1 % COz, 502, TEGE

, x €02, Si0z, [NO,]

3 v €Oz, [NO,]*

4 % SO, TeO,

Question Number : 132 Question Id : 8135611252 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following are 1soelectronic species?
$08 735" (DJ°)00-JVF"IE 2SR DD ?
Options :

0%, F, Nat, Mg*

1. %
> % 0, F, Na, Mg

_ G5, F~.,.Na*, Mg**
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. 077, cl”, Na, Mg**

Question Number : 133 Question Id : 8135611253 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Which of the following solutions has the lowest freezing point?
808 TS" D TITIS OO B D IBHD Fdo Gotnod?

Options :
1. ¢ 1 M Urea

, » 1M NayS0,

5 % 1M NaCl

4. % 1M AIE{SO‘*:}E

Question Number : 134 Question Id : 8135611254 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Find the equivalent weight of Mn0, for acid medium reactions.
(atomic weight of Mn = 55, atomic weight of O = 16)

€35 03808 Mn0,” B00) &rEAVod ? (escderorey Mn = 55, 0 = 16)

Options :
1 % 118.93
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, v 2378
3 % 64.00

4 % 5493

Question Number : 135 Question Id : 8135611255 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

For the reaction given below. which of the following is not a possible product?

Nacl
H,C = CH, + ag. Br, —— Products

S06d TS farﬁbé t:’:;f.‘5553 S8R 200 508 D&?

NacCl
HyC = CHy; +20.Br) —— &)W

Options:
CH, — Br
I

1 % CH, — Br
CH; — Br
|

5 % CH, — Cl
CH, — Br
|

3 % CH, — OH

4.
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CH, — CI

CH; - Cl

Question Number : 136 Question Id : 8135611256 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The highest temperature among the following is

& 2008706 edBE e dotf ol

Options:
1. % 200°F

, % 278K
3 v 105°C

, « 105K

Question Number : 137 Question Id : 8135611257 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

DDT 1s

DDT as

Options :
An antibiotic

| % OSroBecirds
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Biodegradable pollutant
25 DD STRVRDHD

Non-Biodegradable pollutant

- ) maal;m 570 S“P_u‘:.’aéan

Nitrogen containing insecticide

4w DEBS $DHD D Dofoed

Question Number : 138 Question Id : 8135611258 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Find the product in the reaction given below
Sod z:acisif €551 00 DDEY?

_COOH

CH, — 0OH Polymerization
+ 5

|
CHy —OH FrBabstme

COOH

Options :
Ravon

Buna-S

m&aﬂ-s
2. %

3.¥
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Glyptal
s

Neoprene
4 % DI

Question Number : 139 Question Id : 8135611259 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following laws gives the relation between volume and temperature?

dod T80 {ADBATETIS 2dain eg“ae:os: (0 Roeaotr) a5 Dobsan 287

Options :
Boyle's law
1 % GO QOB

Charles’s law
7 TOR AoDSL

Gay Lussac’s law
Tl VRS QoS

Avogadro’s law
TR Q03050

Question Number : 140 Question Id : 8135611260 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The dipole-dipole mteraction energy between polar molecules in the solid state will be

proportional to [ if r denotes the distance between polar molecules]

fmé%@a‘i‘ SyTEYY (R AR - BIE)D WoBCHTT 33 =V
9 APT B8’ Gotdd. (ST 6| dro) 1T erdotdol )

Options :
1

1% T©

1
2#/?,3

1
r2

Question Number : 141 Question Id : 8135611261 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

What is the molecular geometry of H;0% ?
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Options :
Trigonal pyramid
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Square planar
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Trigonal bipyramidal
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Trigonal planar
A€ dAdwo

4. % =

Question Number : 142 Question Id : 8135611262 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

. . : s | ,
The number of electrons that can be present in subshells having m, value of = fornuptol
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Question Number : 143 Question Id : 8135611263 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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According to the figure given, which of the following statements is incorrect?
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Options:
The 2 bridged hydrogen atoms and 2 boron atoms lie in one plane
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Out of 6 B-H bonds two bonds can be described in terms of 3 center 2-electron bonds
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Out of 6 B-H bonds four bonds can be described in terms of 3 center 2-electron bonds
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The Four terminal B-H bonds are 2 center 2 electron regular bonds
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Question Number : 144 Question Id : 8135611264 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The formula for calculating ‘spin only’ magnetic moment is.
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Question Number : 145 Question Id : 8135611265 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Choose the correct option regarding the following

Assertion: Actinides exhibit a larger number of oxidation states than lanthanides

Reason: There is a large energy gap between 5f. 6d and 7s subshells.
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Options :
Assertion and reason are correct. and reason 1s the correct explanation for the assertion
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Assertion and reason are correct. and reason 1s not the correct explanation for the assertion
GyDE08, SO0 PBADH DBAN SEH0 GNSEHR LB DdBotsTA

Assertion is correct. reason 1s Wrong

L v ByDECE VOAWIS, S°Ct0 By

Assertion is Wrong. reason is correct
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Question Number : 146 Question Id : 8135611266 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

For the reaction A —— products, if the graph of [A] v/s time gives a straight line, predict
the order of the reaction.
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Options:
Pseudo first order
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Zero order
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Question Number : 147 Question Id : 8135611267 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In order to increase the volume of a gas by 10 % at constant temperature the pressure of the
gas should be

20 &0 36 28 Ta WIBATHD 10 % Db & RIAENE

Options :
Increased by 10 %

_— 10 % ot5=®

Increased by 1%

Decreased by 1 %
1% Shod
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Decreased by 10 %
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Question Number : 148 Question Id : 8135611268 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following species has tetrahedral geometry?
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Question Number : 149 Question Id : 8135611269 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In the preparation of a 1°-amine from an alkyl halide, with simultaneous addition of
one CH, group to the carbon chain. the reagent used as source of nitrogen 1s

S 3 00008" aﬁz’ CH, % 86038, 658) 6 SFGE Aok 1°-203 & Sardd
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Options :
Sodium amide. NaN H,
1 % Sﬁdmﬂ J)QJ{E., Nﬂ.NHE

Sodium azide. NaN;
5 % J'élado FE, NaN;
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Potassium cyanide. KCN
Derdrabe pabRE, KCN

Potassium phthalimide. C,H,(C0O),N K"
. Yerboo mORE, CaHy(CO)N K™

Question Number : 150 Question Id : 8135611270 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Weak acids are partially ionized in aqueous solutions. The 1onization constants of some acids

are given below. Arrange these acids in mcreasing order of their acid strength

4 Tonisation constant
Index Acid ;
(Kz)
1 Formic acid (HCOOH) 18 x 107
2 Hypochlorous acid (HCIO) 3.0x 1078
3 Nitrous acid (HNO,) 45%107
4 Hydrocyanic acid (HCN) 49%x 10710
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1 F8)§ eno (HCOOH) 18 x 1074
) TIE6R a0 (HCIO) 3.0 %1078
3 20 &0 (HNO,) 45x% 107
4 PED0HE 80 (HCN) 4910710
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;% 2<3<1<4

4. % 4P 2

Question Number : 151 Question Id : 8135611271 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which among the following is a unitless physical quantity?

SoBTS” HDATEIEN T FTAE T8 0O 7

Options :
Molality

| % 2008

Molarity
2 % 200e°88)

Mole fraction
v 8 PO

Normality
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Question Number : 152 Question Id : 8135611272 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The correct order of acidic character of group-16 hydrides 1s

SoBTDe5° (irH-16 ggmu €35 c;inc&é;.‘m e3P G000 DOGIA S00D
Options :

1. ¢ Hzo = st ‘:HESE “-';HETE"

5 % H,0 = H,S = H,S5e > H,Te

3 % Hzo < Hzg ::‘HESIS" ::’HETE

% Hzo < st = HzSE" = HETE
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Question Number : 153 Question Id : 8135611273 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following statements is true?

1) The two axial P — Cl bonds in PCl; are longer than the three equatorial bonds
2) The axial bonds in PCl: are stronger than equatorial bonds

3) The axial bonds i PCI; are more stable than equatorial bonds

)
4) All five bonds in PCl; molecule are equivalent
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Question Number : 154 Question Id : 8135611274 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Steam distillation process cannot be used for purifying which of the following?

20835 2o ErEYy YR DEaD T BAD %\og BT a0 ?

Options:
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00D

p-nitrophenol

PR DHIS

Toluene

x93

Nitrobenzene

DR D

Orientation : Vertical

The correct order comparing the acid strengths of HF, HCIl, HBr and HI 7

HF, HC], HBr 208050 HI © &35 e)ere) HESDMT 28 08 22008 S50 ?

Options :
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Question Number : 155 Question Id : 8135611275 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

HF =»=> HCl == HBr => HI

HF << HCl << HBr << HI

HF > HCl »> HBr >> HI

, % HF << HCl >> HBr >> HI

Question Number : 156 Question Id : 8135611276 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The largest element among 0, Se, S, Te is

0,5e,5,Te 085" 08 DG Jorossn 6 ?
Options :
1. % S

9 % Se
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Question Number : 157 Question Id : 8135611277 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Calculate the amount of NO, required for producing 4g moles of HNO; as per the chemical
reaction 3N0, + H,0 — 2HNO; + NO. Given, The gram molecular weights of di-nitrogen

and di-oxygen gases are 28 g and 32 g respectively.

3NO; + H,0 = 2HNO; + NO 63ras0d 6] 6r0ol™ 4 o Areww HNO;
BAITEiR% S50 N0, r6008? BToto: A B S\ © T

£9ERP G000 SAWT 28 g «badw 32 g.

Options :
1.« 276 g

, x 2749
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Question Number : 158 Question Id : 8135611278 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Both ethanal and propanone will react with which of the following?

ZOTS 208050 THID oty Soda e D awgmﬁ 6§ Todsriw?

Options :
Tollens reagent
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Schiff reagent
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Fehling reagent
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Grignard reagent
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Question Number : 159 Question Id : 8135611279 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Lemon and orange juices contain and acids respectively.
D:0), 808 B G0 ST S0dain 3o $8A gotoad
Options :

Tartaric. Oxalic
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Citric. Citric
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Oxalic. Ascorbic
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Ascorbic. Oxalic
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Question Number : 160 Question Id : 8135611280 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Calculate the energy associated with the second orbit of Li™ and find it’s radins?

Li* Bocd 8 amng), 38 Aeorsolt 20080 & &g TG dods?

Options :
| % 4905x 107" 1. 0.0705 nm

, x 4905x1072°J. 0.0705 A

5 x 4905 x 10717 J. 0.0705 A
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4905 x 10718 7. 0.0705 nm
4, &
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